MOUNTING INSTRUCTIONS

EXHAUST PROTECTOR FOR

BMW R1200RT ‘14-

Py

Racing Screerrs

Ref.: 8546P

Aluminium covers set 1
Right metal support 1
Left metal support 1

M6 caged nut (supplied mounted in

piece n°2 and n°3) °
M6x10 I1SO 7380 Allen screw (Silver) 6
M8x15 DIN 912 Allen screw (Black) 4
M6 Nylon washer 6

Stickers set 1



https://www.motorcycleid.com/puig/

y 4
P."g MOUNTING INSTRUCTIONS

Racing Screers

EXHAUST PROTECTOR FOR

BMW R1200RT ‘14-

Ref.: 8546P

@

RIGHT SIDE
Original screw

Original screw




MOUNTING INSTRUCTIONS

EXHAUST PROTECTOR FOR

BMW R1200RT ‘14-

Py

Racing Screerrs

Ref.: 8546P

Original screw

If you’re looking for quality motorcycle exhaust, visit our website.


https://www.motorcycleid.com/exhaust.html

